®
at@S A www.atos.com FEAS A005-14/C

PFE-31,PFE-41,PFE-518IIt B &

EHEE
PFERZE R, W12 4. Hiv@. @
IR B W A LR A @, L ik . KR dn AMIG
ARG E
3 FH 7% 4 DING1524~535 kM (1™ 11,
DA B AT AR 1 B 01 1A
TR A RUDCHE, AT AT 4 Ry
INEASTN
e RSFRF A SAE J744 Frifk.
RETAE, e R R DU AR
AA] DY ASAH B (47 B | o
O ik A2 5y, AT AAE LA Bl e 3.
@O BT nk
@ b HEEYEH 98, HEETIA15022THEF; .
® K T ik210bar,
©®  Hhh
@ o PFE-41
Jze
PFE X2 - 31 03 /31028 / 1 D T ** /*
SE A P B
LRSI F b j\F/’VEE{;f;{;Q?E@
X2= 1 AN LRI AP «
X3= 11 AN ARG IR e
A BT T bR 5
XA=—PFE-3111%¢. e, 5T
XB=1%—/PFE-41 ({\ %} PFE-41F1PFE-51) [ %% . T=FrHE
XC=$: A PFE-51 (L PFE-51) [ 7. U, V. W B
XO=AHril, AH L, e R
B WAL RN U RRCH, A ?ﬁmﬁ#@#ﬁ%ﬁ%ﬁfﬁéwﬂjy RIS
BEARA190. S e
PT: PFEFEAAS AL,
;“LJ:L]; e, (6 A[7 ]
A WRAZIR (U895 T
1=
HERE Cem¥rev) WL [2] 5 2=K A (AU PFE-41IPFE-51)
PFE 31: 016,022,028, 036, 044 3=MF s
PFE 41: 029,037, 045,056,070, 085 1o
PFE 51: 090,110, 129, 150 S=HTREMZEE (TEME)
ST HEMEBREL (U — 5 A
(O ZAPFEX": 452 (FI453) 9458 PRI TE R i g | DIPFE-I1AIPFE41

[2]TfEt5te: 7E1450rpm, 5HIR50°C, ISO Vg46R MK 4TS

o HE o 4350 7bar(3 70bar(3 140bar(3 210bar(3;
2y cm/rev REEA rom(2) [/min ) kW I/min ( )kW I/min ¢ )kW I/min ( )kW

PFE-31016 16.5 23 0.5 21 3 19 5 16 8.3
PFE-31022 21.6 800-2800 30 0.6 28 4 26 7 23 10.8
PFE-31028 28.1 40 0.8 38 55 36 10 33 14
PFE-31036 35.6 51 1 49 7 46 12.5 43 17.8
PFE-31044 43.7 63 1.3 61 8 58 15.5 55 22
PFE-41029 29.3 41 0.8 39 55 37 10 34 14.7
PFE-41037 36.6 800-2500 52 1 50 7 48 12.5 45 18.3
PFE-41045 45.0 210bar(1) 64 1.3 62 8.5 60 16 57 22.6
PFE-41056 55.8 80 1.6 78 1 75 21 72 28
PFE-41070 69.9 101 2 98 13.5 95 26 91 35
PFE-41085 85.3 800-2000 124 2.4 121 16 118 32 114 43
PFE-51090 90.0 128 2.7 124 17 119 33 114 45
PFE-51110 109.6 800-2200 157 3.2 152 21 147 40 141 55
PFE-51129 129.2 186 3.7 180 25 174 47 168 65
PFE-51150 150.2 800-1800 215 4.2 211 29 204 55 197 75

(1) HI/WGHI/PEL L5z K Jk 71k 160bar
(2) HIIWGHI/PEILI e K344 1800rpm .
(3) R FRIFE S F M E L 2005 -+ 1



PFE-1EIMH A RMOEESH:

A g I dpe /K HE

GHENL ATARI 7
il L3 A FERN AN SO VATl 1) FOAR ) A, TOC%I 85 S e R S e £ 2
REE I M-20°C#]+70°C
MBS T 4rDIN51524~535 153 et : - HoA /5 WL [A]45
FBURY 1 «

T KA S BIRY 800mm?/s

AR e R 100mm?/s

EAT RS 24 mm’/s

10 mm¥s

B TFEr1S019/16451E (25 1w mAll Bes = 75115 BERT )
T bRl -20°C~+60°C, /WG#$-20C~+50C, /PE# ¥ -20C~+80°C
HELERERN S ) 34 7E1800rpm L IS, AA-0.15bar#1.5bar, 4kl 1800rpmitf, MOZF|1.5bar

[4] M fh s % SEFRIBS0C, IS0 VOA6HRAEHUE i

1=HI%E —E S #hsk

2-IFEKTF, (EFF{r1S04412-1
FRAEI RS A AE TS o
3. 1450rpm

PFE-31

3={¥ ) \7bar s 1t 42 210barltf (1)
ek

4={£140barlif [} ThZEH 4 — 45 dh 2%,
AL AR R el

PFE-41

5=+1£ J1 \7bar 4. 2521 0barlif ()
e Rk

6="E140bariif [ ThZH #E — 45 dh 2%,
TFELH AN LAE H ) OE L .

PFE-51

7=4£ & J1 A 7bar & 1k 42210barli} 1)
ek

8={t:140barlif (M T ZH 4 — 45 dh 2%,
THFET AT AR ) IRaE L.

A005 - 2

800
= 480 =
Z | e
= 360
Zr
= 20 o
& 2 o
E . A
- 2

/Q/:umm
/ /,4.—-016

0 50 100 150 200 250
T AR ) [bar]

100 044
3
80 1036
—_ 028
c
£ 60
= 022
=
! 016
20p -
0 600 1200 1800 2400 3000
e [rpm]
200
160
= 120
£
g 80
ES
40
0 500 1000 1500 2000 2500
1 [rpm]
300
7
240
= 180
£
o 120} -
ES
60
0 500 1000 1500 2000 2500
#e3 [rpm]

100 >
90—~
<
< 80
3 D PFE-51
%EE 70m~ 1 - PFE-41
WZ PFE-3
0 50 100 150 200 250
AR ) [bar]
30
4 044
24 -
036
% -
=
2 ol I 2
g
. //// L— |06
6
=
0 600 1200 1800 2400 3000
B30 [rpm]
60
48 085
- 070
<
— 36 . f——
W 4 056
= / / / 045
=24 1 - =
Tz / 037
L o
2 i é/
=
0 500 1000 1500 2000 2500
39 [rpm])
100
8
80— o P
§ 60 / Lo
# L~ 090
= 40} -
i 7
20— —+ _,é,,,, SRS DE—
0 500 1000 1500 2000 2500
3 [rpm]



[5 )5 o 3 51

PSS A LEARRT S KSR AN IR 7 A, SRS OIGAD
T=aE il /AR [l 2 L Chriti it
U=t E1 55 30 1A %2180°
V=t Sk A 2290
W= 15 1E 3l AR 52707
WS e — 4 2k
SHT RIS R E e 6 )ty bl 11 118 52 A b s

T U W
T P P
T
[6] 9% 2h 4k
Tt
1= TRERMBIIE O AL E S
HARHRE S, W brvEAL S . <
2= TG Z L (R — B 5D _ o
KA (LA PFE-41AIPFE-51) NG,
S=HTHREMBIAE DO AL E S .—F—J
R EIT T .
TFHEHEL (FROE) P A 2 P A3
A5 ASOx il 4 AR T 4l 784 ASO6] T4l L
Al F |Gl k | 2AQ Al F Gl kK |01l oAQ Al F |Gl Kk |on 2AQ
PFE-31| 4.78 |21.11|57.50| 9.50 |19.05| SAE 16/32-9T | - | - | - | - | - - 4.78 |24.54]57.50| 9.50 [22.22| SAE 16/32-9T
475 |20.94 19.00 4.75 |24.41 22.20
PFE-41| 4.78 |24.45/50.00|11.40 |22.22| SAE 32/64-24T | 6.36 |25.03|71.00| 8.0 |22.22| SAE 32/64-24T | 6.38 | 28.3078.00|11.40 |25.38| SAE 32/64-24T
4.75 [24.41 22.20 6.35 24.77 22.20 6.3528.10 25.36
PFE-51| 7.97 |35.33|73.00| 14 |31.75|SAE 16/32-13T| 7.95 |35.3384.00| 8.10 [31.75|SAE 16/32-13T | 7.97 |38.5884.00] 14 |34.90| SAE 16/32-13T
7.9435.07 31.70 7.9435.07 31.70 7.94|38.46 34.88
TE R4

5= F YRR LR (LEALE )
JI TPFE-3147577SAE A 16/32 DP, 9% ki
JHFPFE-414574ySAE B 16/32 DP, 134! iAi
HT-PFE-51%F 4 SAE C 12/24 DP,14%# i
FHITHFERM B IS (SO 35— 55
JH TPFE-31RIPFEX*-3147 7+ SAE B 16/32 DP, 134 iAi
- FPFE-41RIPFEX*-4175 4 SAE C 12/24 DP, 144 ik
=1 WA P T 4 A = AR
JHTPFEX*-3175{rSAE B 16/32 DP, 134 iAi
JTPFEX*-4175{+SAE C 12/24 DP, 144 ik

TEHEIELS TERERHELS TeRERmE7
e ASORS 3 Al 4 ASORT 3 A 4 SR A Y
G2 | G3| K 71 DAQ G2 | G3| K 71 DAQ G2 |G3| K 1 DAQ

PFE-31|33.50|19.50|9.50| SAE 16/32-9T | SAE 16/32-9T |42.50| 28 | 9.50 |SAE 16/32-13T | SAE 16/32-9T |33.50 | 19 |9.50|SAE 16/32-13T| SAE 16/32-9T

PFE-41|41.25| 28 |8.00|SAE 16/32-13T|SAE 32/64-24T|55.60| 42 |8.00 |SAE 12/24-14T | SAE 32/64-24T|41.60 | 28 |8.00| SAE 12/24-14T|SAE 32/64-24T

PFE-51|56.00| 42 |8.10|SAE 12/24-14T\SAE 16/32-13T| - - - - - - - - - -

48 ¢ TR
BAEHHLE [Nm] B S 5 K AR [Nm)]
FAE
) D HE3 LS HES 7 TR
PFE-31 160 - 240 110 240 240 130
PFE-41 250 250 400 200 400 400 250
PFE-51 500 500 850 450 - - 400

URBN AT A FILE (7 (A T S U — S g il £ L mT 2 )
TEZ WAL ER G2 IR R A T R SR
NEGRUEAE AR SX SN A 1 S A AN BB 2 b T 9 (i A005 + 3




[8]#RAIRLER T [mm]

T=HEah E
P=thih b

SAE bRAETE 2 RS -

PFE-31: TIi=11/4"; P[1=3/4" s
PFE-41: TH=11/2"; PI1=1" PFE-31=9kg
PFE-51: TI1=2";  Pr=11/4" PFE-41=14kg
PFE-51=25.5kg
E A B C 2D E H L M ON Q R
PFE-31 136 100 28 82.5 70 6.4 106 73 95 111 28.5
PFE-41 160 120 38 101.6 76.2 9.7 146 107 120 14.3 34
PFE-51 186.5 125 38 127 82.6 12.7 181 143.5 148 17.5 35
A% @s u1 u2 v DW1 PW2 n 2 X1 X2 oY
PFE-31 114 58.7 47.6 10 32 19 30.2 222 M10Xx20 | M10X17 47
PFE-41 134 70 52.4 13 38 25 35.7 26.2 M12X20 | M10X17 76
PFE-51 160 77.8 58 15 51 32 42.9 30.2 M12X20 | M10X20 76
[9 @R R~ (33 % & ZR) [mm]
T=HEH 11 |
P=ti 1
= L =i
SAEV%:
PFEX-31: TH=11/4"; Pr1=3/4"
PFEX-41: TH=11/2"; Pli=1"
PFEX-51: TH=2";  P[=11/4"
HepRF, L8]
A% | OAG | @AH mEmsmENTT) AL |@AN| AP | AR | OAS H J L M N R
82.57 6.42
PFEXA-31] 114 106 70 M10X17| 95 33 25 82.63 6.48 165.5 132.5 79 32 28.5
82.57 6.48
PFEXA-41] 134 106 70 M10X17| 95 23 " 82.63 6.48 194 171 73 32 28.5
101.62 9.73
PFEXB-41 134 146 125 M12 120 32 18 101.68 9.78 203 171 107 41 34
82.57 6.42
PFEXA-51 134 106 70 M10X17| 95 227 1" 82.63 6.43 206.2 183.5 73 32 28.5
101.62 9.73
PFEXB-51 134 146 125 M12 120 32 18 101.68 978 215.5 183.5 107 41 34
127.02 12.73
PFEXC-51 134 181 300 M16 148 | 46.5 30.7 127.02 12.78 230 183.5 143.5 56 35

(1) SRAR RSN 12. 9%
A0OQ5 - 4




